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OR (3121a1)

What is Hartley Shannon law ? Explain sampling
theorem.

g d—999 | a1 @ ? QUi ynyg @)
ATET B |

8. Explain the DPCM system . Derive the expression
for slope overload noise of the system.
6
DPCM YUTTell &1 AT & | 19 3favdls

Blciied & U AT YT B |

OR(3721dT)

Derive the expression for the bit error probability
of a QPSK system.

QPSK fieew & fay facw Ffe ydfafadt &
fore @@w® &1 W9 T R |

NT6026 1638603
2019(0dd)
Time : 3Hrs. Sem - VI/ ECE
Digital
Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.

Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question
carries 4 marks.
qu-B 4w uig gl & SR <, 9AS U BT 4 435 ¢ |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |

P.T.O



O'Ld

9 "APaLIq QWAYDS
uonenpow duo Aue ure[dxyq ¢, UONBITUNWOD
[e)ISIP UL UONBINPOW [B}ISIP JO PISU oY) ST IBYA  °L

|2 M0 @ 2K Blh Yai

0t=5%9 "SuOIISAN() AL [[& Jomsuy

J - dNOUYD

1@ QLKL &) VINAL bk 1RD & VINGL
"VINAA 19A0 VAL JO d8ejuBApe ) 218 JBYA\

(lpreiR)JO
¢ g lkb
kiRhe b lalibie ‘AIDkIP) b ®=db VINAD

14 ;
& VINAD

Jo uoneosrjdde pue S)LIOWOP ‘SILIOW AU} AIB JBYA\ O

€098¢91 S1 97091LN

dA0qe 9y} Jo duoN (p)
Ayunuwr 3s10N] (9)
JOATQ021 A I8 9suds Ajure[od (q)
Suraes 1omo( (®)
SI SUIpO? JO
JBULIOJ JO)SAUOUBW SUISN JO dFRJURAPR Y], (1)

NV (2)
WDdA (k)
NOd (k)
LRaRRSIk 1208 (k)
| @ ID|2 reSbj—Sup bbb b
GLdD LRPEL Rl b lodbh RIS ()

VA (P)

WOdd (®)

NOd (@)

uone[npoIN eI (&)

(St

YIpPIM pueq wnwruiw a1mbail jey) anbruyoo)
uonepow Y} ‘uoIssiusues) [BNIIp ug (1)

: BpR| Apbh & hodp] PbRhS bRyYlbh

07=07X1 : suondo
SUIMO[[O] 9Y) WOIJ IOMSUR J[RIINS 1SOW ) IS00Y)  °[
V-dNOodd
9709.1N (4 €098€91



1638603 14 NT6026

wia ¥l Rre aRAT @ araEr a3 | FSK
Rrral @ digy—< fedqeq &1 qufqa &Y |

OR (3121an)

Explain coherent detection of PSK signals and
derive probability of error.

PSK Rrrat f diav— feeaem &1 aviq &
AR Ffe f& dwran f& aarer &

Explain the convolution codes.

HIduid bl Bl ARAT B |

OR (3121a1)
Sketch the power spectra of-
(a) Polar NRZ
(b) Bipolar RZ signals

fr=faRaa @ forg urar Waer «f [ty
N |

(®) gda NRZ

(@) Rgfaa Rz R

NT6026

(i)

(iii)

(iii)

(iv)
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BIfST & foIv A9d¥R UTOU AGER
B BT T T & ?

(31) SoIf @ g9d

(@) RRER wx giaRfe 9=9 &1 & fag

(W) drarea gforeror
(%) SWiad & 4 HIg 2]

The channel capacity according to Shannon's
equation is.

(a) Maximum error free communication

(b) Defined for optimum system

(¢) Transmitted information

(d) All of the above

Shannon's equation @ d&d d+el ®I
&gaar gidl 2 |

(31) afrpaq Fegel war A

@) sggpfaa Rea & fag aRwafya
(&) a1 @1 GaReT

(%) Suwiaa g+l

Entropy is

(a) Average information per message
(b) Information in a signal

(c) Amplitude of signal

(d) All of the above
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Answer all Five Questions.

&) fpafaRaa 4 9 fSRica Trsgeaq
Rreag a9 € 2
(31) PPM
@) PWM
(|) PCM
() PEM

GROUPB

4x5=20

gl ufg gl & SR < |

2.

Explain the advantages of digital modulation
technique.

fsforeca Arsyee@ aRa @& IRl &t
Sedad &Y |
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(vi)

(vii)

(vii)

(viii)
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Parity a1 fdcd SISIT & SAATA
forar imar 2

(@) Ffe &1 & B

@) Ffe & yz=E

(@) Ffe gar iR ggarE-T

(]) SWigd ¥ 4 &Is &l

The bandwidth of QPSK is ................... of
bandwidth of BPSK

(a) Thrice

(b) Four times

(c) Twice

(d) Same

QPSK &1 dsfdser, BPSK & dsfaser
............... g1 2 1?

(e1) T Tom

(@) =R om

(&) <1 Iem

(?) @ Gw=

The main purpose of coding is
(a) To improve the SNR

(b) To improve the bit error rate
(c) To improve the selectivity
(d) To improve the linearity
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(xvi)

(xvii)

(xvii)

(xviii)
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PDM Riieia &1 Saurefa fear <
qhdl 2 |

(31) v Rer 7l argder

@) o Reafds Al agdex

(|) tdied PPM

(%) 3iar vl &1 PPM ®

Analog signal in converted to digital data using.

(a) Sampling

(b) Quantization

(c) Coding

(d) All the above mentioned

et &1 fsfiea o aRafda fear s
AHhdT 2

(ar) Aftwir

CECIFESEE]

(|) ®IifST

(%) SuIqad g+

In communication sampling technique leads
to -

(a) Higher efficiency

(b) Higher speed of communication

(c) Cheaper equipment

(d) All the above

NT6026

x)

(xi)

(xi)

(xii)
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PCM ASITST qaiegeieq W) =
@ Had d IRAING & AR =R
BT 2 |

(3r) amgfer

() Imam™

(@) gy &1 af

(%) mam™ &1 a9

Delta modulation uses ........... bits per sample
(a) 1
(b)2
(c)4
(d)8

Which of the following requires a
synchronizing signal.

(a) Single channel PPM system
(b) PAM

(c) DM

(d) All of the above
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9.

10.

Describe the BPSK modulation technique with the

help of a neat diagram.
6

geuse a0 & |1l BPSK Algaled da-1®
3 AT BN |

OR (3121a1)

Explain about DPSK system and also give the
comparison between DPSK and PSK.

DPSK dad+ie &I 9H3mA | DPSK 3R PSK
dbld B Gao-T DX |

Explain how parity checking can be used for error

detection or error correction.
6

Ffe @1 @ioA a1 P w3 4 uRS AfeT
&1 sEATA ¥ fHar smar 282

OR (3121a1)

Compare the various line coding technique and list
their merits and demerits.

P.T.O
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9.

10.

Describe the BPSK modulation technique with the

help of a neat diagram.
6

g fa=01 & |1 BPSK Algal¥d d&-1d
D ARAT N |

OR (3121d1)

Explain about DPSK system and also give the
comparison between DPSK and PSK.

DPSK d&+Id &I 9HsmA | DPSK 3fiR PSK
db-Id B G- DN |

Explain how parity checking can be used for error

detection or error correction.
6

Ffe @ @ioq a1 Ae o= d AR AfeT
P ST DY fHar Smar 82

OR (312141)

Compare the various line coding technique and list
their merits and demerits.
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